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! 1. HEfx) =x+2, then fIf(0)] atx=4is:
(1) 8 '(2) 1 (3) 4 ) 5

T |
dl‘[ tan? 2x —tan x] t3x:|

2. The value of

xl_ —fan’ 2xtan’ x

(1) secx @) sec’x (B) secxtanx  (4) sec’x
3. Hx=asin9, y.:-b?setﬁ'ﬂ;;tﬁm j—-g- is.equal to :
1) ?SECB (2) --%Sﬁc?' 0 (3) g—geczﬁ (4). None of these
i3 a” (

4. HaMy" =(x+y)™"", then % is:

2 (2) *;' @) xy (4) None of these
5. Maximumslope of the curve y=—-x>+3x% +9x—27 s

1) 0 ()16 @) 12 )
6. The function x* is increasing, when :

(1) x>~ (2 x< 1; 3) x<0 (4) ‘None of these

7. The rate of change of the ‘surface area of a sphere of radius r, when the radius is
mcreasmg at the rate uf 2 cm..” 518 pmpf.}rtiﬂnal fo

a 2 @ @ @
r
8. Angle between the tangents to the curve = x*—5% +6 at the points (2, 0) and (3, 0)is :
1) Byl @) & iy E
(1) 3 () ; ®) (4) 5

2 } |
9. J'(.IHl.) vdxisequal to:

:rx +1

-+

(1) logx+C (@) 2tan”'x+C  (3) lﬂg

7 tC  (4) Nt}ne of these
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10. (X+sinx

Tt oo “risequal oi:
@ xanz+C @ @nf+C @) logeos (4 Nomeofthese
! 1. The straight line whose: sum:of the intercepts on the axes is equal 'to half of the
produict of the'intercepts, passes thruugh the point '
(1) (2:2) (2) (1L 1) 3) 4,49 4) (3.3)
12. The equahnn of a circle with centre (1,2) and tangent‘ x4+Yy=5=0is:
(1) X% +y +2x—4y+6=0 @ x +y2 -2x— 4y+3 0
@) x5+ =2x+4y+8=0 (4) Ix -yt —2x =4y +8=0

13. The distance between the foci of an ellipse is 16 and the eccentricity is E- -Length of

major axis of the ellipse/is : I
(1) 8 2) 16 (3) 32 (4) 64

14. 'The ratio in which the line ; }mmng (2 4, 5) and (3,5, - 4) is divided by the yz-plane is:
(1) 4:-3 (2) 32 (3) 2:3 (4) —2:3

15. A plane makesintercepts 3 and 4 respectively on z-axis and x-axis, If plane is parallel
to y-axis, then its equation is :

(1) B2+ 4v=12 (@) By+4z=12 (@) Bxdz=12 (4) Bz4dy=12

__ Iy dy
. E}% xtai(:rwx) ierequelio:
() 2. (2) % (3) -2 (4) None of these
17. The points.of discontinuity-of tan x are';
i a=em (2) 2nm @ @z @ -2nn
wheren e |

18. Ifxy=e"Y, then dy is equal to :

dx
o &=y s (x+1y 3y =Dy R
169 L+ y) _(2) H1+)) 3) '.'cfi-'.w-g) (4) None of these
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1+sinx—cosx . . dy . .
If =212 0S4 o S e
Iy Tesinxe C‘?é‘f"*'f%":’ then _atx is equal_tu

19.

1 1

(1) — @) (3)

cosx T sinx 1-cosx

e
. 1] then Al isequal to

(1) 2904

20. It A [

(2) 100 A @) 274

(4) Noneof these

(4) 299 A

21. Iftwo sets A and Bare: hawng 99 elements in common, then the number of elements

‘common to'each of the sets A x Band B'x A are:
(1) 992 ) 18 (3) 2%

22. If f(:r} 11—— then the value.of f{f(x)].ls

@ - I 1 @ @

28, The function f(x) =log{x+x” +1 s

(1) ‘aneven function
(3) ‘aperiodic function

3A.

(1) sin34 2 sinéf— ®) sin=-

(1) cos20 2) sin206 (3) sec?20

@ y>2

Q) y=2 @) y=-2

€0s12°—sin12° 4 sin 147¢
cos12%+8in12° cos147°

1) o (2) -1 (3 1

27. Thevalueof.

is equal to:

PG-EE-2016/(Mathematics Hons.)/(B)

(2) an odd function
(4) None of these
24. The value of sin A sin(60° + A) sin(60°— A) is equal to :

(4) 100

@ sin—

(4) tan 28

4) y=0

(4) None of these
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28, Plr):143+5% i F @n=1)= n? is:
1) trueforn>1 (2) true'fornon
(3) truefor al[ neN"— (4) Noneof these:

29. If eleven members. of a committee sit at.a rauncl table so that the: President and
Cashier always sit tagether, then the number: of arrangements isi

(1) |10 x2 i (2) 19%2 (3) |_ (4) None of these
:30;__. In how many ways -;‘an__5:'keys_bﬂ_:_-put--i’n aring?
Pt ' P 26 4
o 15 o2 ® 1 w =
‘31, Let R be the relation from A=12,345t0B =13 6,7,-10} defined by "x divides Y’
then R isequal to: |
(1) ((6:2).,3)] ) 1(6,2),(10,2)
3) 1(6;2),(10,2), (3,3), (6;3). (10, 3)} (4) None of these
32. Which of the t'oilnwmg is a singleton'set?
@) te: |x|<txeZ| @) (x: |x|-5 xeZ)
@) [x: ¥*=1,xeZ) @) |x:x*+x+1=0,x€R]

33. [fA=|(x:y= e’ xcRiand B=(xy):y= &%, xR}, then A Bis:

(1) -'élﬂpty-“a'et {2) notaset 3) "singietnn' set (4) noneof these

34. IfA= [(x*_;) X +y 2 =25] and B= {(x,y) Dl +9y -144] thenAmantams
(i) onepoint (2 twopoints. () Hree pOIAIS (4))fouc pormt,
35, Ifz=ilog (2~ 3 ) thencoszisequalto:
(1) i @ 2 (3) i (@) 2i
36. The ga{p;ggs’iﬁp' tan> ti+:i:ﬁfz'.¢_ 151

) =2 (Q_) <2 3) =-2 (4) None of these

37. A linear pmgranmng problem s concerned with Emdmg the following value::
(1) only maximum value () aphmal value'
(3) only minimum value' '(4) mone of these
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B 5
38. The linear function Z = ax + by, where 4, b are constants, which has to be maximized
or minimized is.called a :
(1) constraint (2) - function of any type
(3) linear objective function (4) none of these
39. A compound statement is a statement which lsmade up of :
(1) onlyone statement- (2) -any number of statements
(3) two or'more statements (4) noneof these
40. A compound statementwith an 'Or'is false when:
(1) “onecomponent _sta'tement':is false
(2), none component statement is false
(3), both the component statements are false
(4) none of these
41. It a=itj+k, b=2i—4k, ¢'=7+2j+3k are coplanar, then the value of A is:
. B T ¢
3) 4 L
B3 @ =

42, Ifd= 25+}+2Eand F=5?—33+E, then the projection of bonw is:
) 6 (2) 5 (3) 4 4) 3
43. fa, b, are mutually perpendicular unit vectors, then | Z+b+ E*':[_is-equai to::
ms3 @) 3 OF @ o
4. I a=i+j+k, b=i+j, ©=1 and(@xb)xc =A7 +pb, thend + pisequal to:
(1) 3 @1 3) 0 ) 2
45. A variable plane moves, so that the sum of the reciprocals of its intercepts on the
coordinates axes s —. Then the plane passes through:
j e S ¢

0 [EEEJ @ LL) @ @2) @ 0,00

46. "'I'he-egua'ﬁon of the plane which bisects the line"join'i;}g:.(z ,3,4) and (6, 7,8)is:
(@) x+y+2-15=0 ) x4y+z2+15=0
'3 x-—y-2z-15=0 4) x—y+z-15=0
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) 8
'47. 'The direction ratio of normal to the plane through (1, 0, 0); (0; 1, 0) which makes an
an'gle. % .witfh-;piitne.'-ic.z.:i- =3 are:
(1) 1, V2,1 @2 (3)1,1,2 @ V2,11
48. A line rhakes the sameangle 0, with each of the xand z axes, 1f the angle B which it
makes with y-axisis such that sin2 B =3sin? 0, then cos” @ isequal to:
2 5y a2 5 B
2 ) = 3 = 4 =
(1) 5 (2) z (3) 3 4) T

49, Thesolutionof =£.=24 is:

1) '_:"-"i +2¥%=C '-"_E'?) 51; -2_—1;:&'3' (3) X -2¥=C (4) None of these

50. y+x° =§§ has the solution :
(1) y+x*+2r42=ce® @ y+2x=ce’
(3) y+2x+2=ce’ (4) None'of these'

51. IfA iS4 square matrix, then (A + A'yis:
(1) unit matrix (2). symmetric matrix

('_B)T' non-singular matrix - (4) skew-symmetric matrix

- e e w | (] BT
52. 1If A?-‘lz?; g] fdtr'nd:-B:-'-*-[5 j];-_thEnwval_l;_t_qﬂfqf:;srwhich A%Y=B is:

1) 1 @) -1 (3) 4 (4) noreal value
53. If A= =85 and Al =2(adj A), thenLisequal to:

1) =t @ 1 e - ek
=2 @ < @ 3 @

54. If A isasquare matrix such that AA’ =[=A'A,then | A| isequal to:

1o (2) 2 (3) %t (4) None of these
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1w -w?/2
§5. 1fwisacomplex cuberoctofunity,then|1 1 1 fisequalto:
1 =1 0

(1) 1 @ w @ 0 () o

56.. IfC=2cos0, thenithe value of the determinant A=

ov =
0 = o
E!

1
i f

sin 40

Sing

2sin% 20
sino

(1) (2) 4cos?8(2cos0-1)

3) (4) None of these

87. x+ky-z=0,3x—ky-z=0andx-3y+z = 0 has non-zero solution for k is equal to':
o @1 @) -1 (8) None of these
58. IfA= =g ,then A™ is equal to:

111 L1t a1l ! Ui

_ -3 E P o, :
5. If;A:[ L 1"5*].,:&@ A s equalto:
log, 1 TR

=

o

| @ tnctien

@ 0 @ 1 (3) log; (4) log,

60. If y=vsinx+ysinx+Vsinz+.. , then gxi is equal to :

Ny COSX oy SIUX . COSX
W s @ = ® 7

61. ‘Thesolution of xdy—y dx+x%e*dx=0 is:

(4) None of these

-+

(1) -;++e*-=c. @ x+ef=C @) Leef=c @ yre=C
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62. The allgébraic sum of deviation of 20 observations measured from 30 is 2. The mean
observation is::
() 285 2y 296 (3) 305 (4) 304

63. The standard deviation of 15 items is 6 and if each item is-decreased by 1, then
standard ‘deviation will be : ol
{1) 5 2) 7 @3) 6 (4) None of these

64. If in a frequency distribution, the mean and median are 21 and 22 respectively; then
its mode is approximately :
1) 24 2 42 (3) 22 () 20

65.. A coin is'tossed 4 times. The probability that at least one head turns up is :
(1) v (2) 7 (3 7 (4) None of these

66. One card is drawn randomly from a pack of 52 cards, then the probability that:itisa
king or spade is: |
S | 2 3 4
M 33 2 % G 3 S

67.. A problem in:mathematics is given to three students A; B, C and their respective

) ; _ _ _ ALY

probability of solving the problem s 5., 3- and . Probabiity that the problem is

solved, is
@ 3 @ 5 @ ; @ 5

68. Five coins whose faces are marked 2, 3 are tossed. The chance of ‘obtaining a total of
12is: |
W 32 ) 16 ©) 16 @ 16

69. Acardis drawn froma pack of cards. The probability that the card will be-a queen or
a heart, is : | _ |
(1) = (2) ot (3) 3 (4) -None of these:

70. If a dice is thrown twice, the probability of occurrence of 4 at least once, is :
(D 3% 2 o &) 36 (4) Noneof these:
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B 9

71.  Five horses are in the race. Mr. B selects two 'of the horses at random and bets on
them. The probability that Mr. B selected the winning horse, is :

1y = @) 2 @ 2 i) None dfthese:
3 Gl 2 B '

I

If A and B are events such that P{AwB) = % , P(AnB) = i- P(A) = %, then P(A ~B)

B 3 oms g
¢9) 12 @ 8 (3) s @ -

73. A coin is rossed three times. The probability of getting head and tail alternatively, is

1 3 @ 3 ® 5 (4) None of these

74. 'Seven white balls and three black balls are randomly placed in‘a row: The probability
that no two black balls are placed adjacently, equals :

il il e 2 — o I
M = @ 5 ® 4 =
75, The solution set of fhe equation sin' x=2tan 1 x is :

I- ! ey d L f -_.IC By o rp—— ' 1 t :
76. an[z sin ( 3 .+!'ﬂ_f2.') 508 [ S +~a2_ﬂ isequalto:

1+;ﬂ;2: ( ) e 3

a

1+a’ 1-a’ i

(0

77. tanE_jan —'Ex _ s y > 0)isequal fo:
y r¥y:.
(1) — {2) —= ) = @)y =
e @) = Ry @
78, '1finatriangle ABC, [A = tan—1 2 andIB =tan"'3, then angle Cis equal to:

-+

O @ = ® -2 (4) None of these

PG-EE-2016/(Mathematics Hons.)/(B) 104 4D 2

L]
gcollegedunlaa
India’s largest Student Review Platform

T



10
79.

80.

For real numbers x-and ¥, we:write xRy ¢=»x2 - ya' +-J§ is an irrational number Then

the relation R, is

(1) Transitive:  (2) Reflexive (3) Symmetric  (4) Noneofthese

A function f from the set of natural mimbers o integers defined by
11-%}- , whennis odd
=i ' is:

1l

. whenniseven

(1) one-one butnot onto (2) ontobutnotone-one

(3) 'onesone and onto both (4) none of these

81. A lady givesa dinner party for six guests, The number of ways in which they may be

82,

84.

85.

86.

selected from among ten friends; if two of the friends will not attend. the: party
together, is : |

(1) 164 (2) 140 (3) 112 (4) 40

Ifw is an imaginary cube root of unity, then [1 +.-w-—-'w?*)' is equal to *

(1) 128w (2) ~128w @) -128w* (4) 128"

The equationzZ+ (2—31) z +(2 + 31) 7 + 4 =0 represents a:-ciii"clefﬂf--radiﬁé ]

1) 3 @ 4 (3 2 @6

If thie roots of the equation gx” +p¥ +q=0 are complex, where p; f are real; then th

toots of the equation x'z-" —dgx + p_z =D are:

(1) r_ea_l__._a_ncl' 'equal ;(.-'_2), 'irn'ag_ihar'y'

(3) real and-unequal. (4) none of these

Ifa+b=8, t_hen"rzﬁ-is-.greate'sfw-Hén-'5:-

dya=5b=5  @uastp=t @usbbe2 D None of these

1f the coefficient of 7th and 13th term in‘the expansion of (14 %) are equal, _Ethﬁ‘ﬂ' n
eqrual to:

(1) 10 @) 20 (3) 15 (4) 18
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B . 11
87 If "¢, denotes the number of combinations of thmgs taken'r at a time, then the
expression "c;; + "c;qy+2x %, equals::
(] e @) M2 (&) e, () ey

88. The number which: should be added to the numbers 2, 14 62, so that the resulting
numbexsmayhemGPis |

(1) 4 (2) 3 @ 2 4 1

89. If the roots of the equatmn x* —12x% +39x -~ 28 -0 are.in. A. P, then their common
differenice is :

(1) +2 (2) +4 (3) =1 ) +3

90. The equation ‘of the straight line j joining the origin to the point of intersection of
Y= —X+7= Oandy +2x—2=0is:

(1) Bx+dy=0 (2 4x+3y=0 (3) 3x—4y=0 (4) 4x-3y=0
1. [x*(+logx)dxisequaltor

1) x2+C ) #¥+C (3) x*logx (4) None of these

92. dxisequal to';
9. [ —drisequlto;

.(1),': —Ing[x +4x+ 51 — Zt;m*f(x 4 2] e

) f;z-lng['(:x #22 - 1]+ 2tan Yz 4 2) 4 C

(4) None of these

93..

: is equa] ta
-[ SinXcos X

(1) log|sinx| +C+ (2) log|secx| +C
(@) logjtanx| +C (4) None of these
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5 & B

12 B

1 e

2

_[ (cos x)[lag[ J:| dx is fqual to:
2 Lo

2

(@1 @ E% @) 0 @ 1

Sk J' 2dx isiequal to:

a log( _;_] 2) nog&) (3) ]DSE _EJ @) 1ug(§)

Iﬁ A = 14
96. Thevalueof [(1-#2)sinxcos? xdx is:
..'.HI- |
(1) = 2) 0 (3) 2n (4) Nomneof these

97. Theareabounded by y = logx, x-axis and ordinates x = 1, x = 215

:[1) log[ }sq unit (2) Igg( qu unit
(8)' log 4 sq. unit (4) None of these

98. Area bounded bythecurves y=x° -_anﬁ yr=xis:

(1) gsq unit’ (2) %sq.. unit (3). -% sq. unit: {4} None of these:

99, Area ﬁf'regfiﬂn .sa.ﬁs'fying x<2,y< |'i:_cj| andx=>0is:
(1) 4=sq-. unit () 1squnit  (3) 2squnit  (4) Noneof these

100. _[ 3 isequalto:

+4x+1

(1) ‘tan "(“2)+C ) §¢M—1;+c

2

(3) tan~(x=2)+C (4) None of these

-
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